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NOTE: Write answers 1o the questions on objestive answer sheet provided. Four possible answers ABC & D 1o each
auestion are given.Which answer you consider correct, fill the corresponding circle A.8.C o D given in front of each question

with Marker or pen ink cn the answer sheet provided f
1.1 Short cut key for paste is ;/

(A) Ctrl+C (8) Ctrl+v (C) Clilsa /(m Ctrl=r

2 Aformula in MS-Excel is always begin wilh:
{A) = (8) = _{C) == / (o) =

3. Which of the following is an Internet Protocol: /
{A) Ethernet (B) ARC net €y 1TCHP (D) MAC

4 Which operation is not performed by computer? /
(A} Inputting {B} /Processing {C} Controlling {D} Understanding

3 AKilobyte is exactly equal t-::_‘,r /
(A) 1 byles (B} 100 byies {C) 256 byle (D) 1024 byles

3 A collection of computers nected tagether is calied ,/
[A) Processing {B} Network ) Chal?(g (D) Centralze %

7. Which of the following i1s not a networking topology?
(A) Bus fr{é] Band {c) s# (B} Ring

A4 Selecl un-guided media: | o
(A} Twisted pawr cable I (B) Co-axial cable iC} /s/alelilte Fiber optic

9 Unicode is a. f
{A) 16-bil Code /' (B) 32:bit Code {o{ 64-bit C&@m) 132-bit Code

10. Typically, an ATM can be used lo- PS _
{A] Keep records (B) Make budgets (=3} ies (D} Withdrawl cash

11 The order of stack is- / L\
{A) FIFO {B) LIFO {0) FIGO

12. Brain of computer thal executes a set of ins ;
{A) Bus B CPU C) Moniter (D} Regster

13. The secret word or number used for i
{A) Biometric (B} ku {C) Password ID) Prvate ward

14, A wirus that replicales itself is call
{A) Bug {C} Bomb (D) Vaccine

15 Pressing and releasin I ause button quickly is called:

(A} Clicking B) Dropping {C) Painting (D) Dragging
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Section -I
2. Write short answars of any six parts from the following. - 2% B =12
i. Differentiate between Soft copy and Hard copy. it. Why does apphication soltware need operation system?
iii. £nlist any four phases of SDLC. Iv. Whal is network protocol?
v. State the purpose of telecommunication vi. How is gata iransmilted in asynchronous transmission?
Jii. Differentiate between intranet and extranet vili. ‘What 1s broadoand? ;'JJ
ix. Define demodulation Why is il necessary? /
3. Write short answars of any six pa;t“é from the following. / 2 x 6 =12
i. What is onlne Educaton? ;f it. How compuler can be useful in weather forecastng?
iii. Define Desktap Publishing. ;‘f iv. Write down the purposesaf AL L
w. Lisl ary wo activilies perfarmegd by control urit vi. Why RAM is called Vi atile Memory?
#i. What 18 the purpose of Fatch dstruction? wviii. What types of devigks are cornected using serial pon?
ix. Who s Hacker? ¥
4. Write short answers of_.'%ny six parts from the following. 2x6
i, Whal is Plug & Play feature of windows? i, Why a compuder syslem needs an operating a@
ifi. What1s Chan? " iv. Deline pag

anentation in Mierosofl Wer
ignment i paragraph

eb Publishing o

v. Differentiate between findo and Rede commands  vi. Describe
Ai. Enlist four functions ysed in MS Excel wiii. Define
[

ix. What is e-mai! addrfess'?Giue an example.

l-f Section -II
lote: Answer any th .a questions from the following. 8x3=24
5. Define Mon-impact Printers.Also explain Laser Printer and Therma' %ail. 08
6. What is Network(Gomputer Network) ?Write in detail tyoes of Is{Clent server, 08
peer to peer and Hybrid)
08

7. What is Unguided Media?Explain Microwave an

B. Define language translator. Explain ns differe
9. Briefly discuss any four threals or viola \ SCU'II What are the solution to these threals or violations 08
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